
 

 
 

 
 

1.  

1

1

 
(1) u  bëk  kilishkën  yegit  idi. 

u      bëk   kilishkën  yegit  idi. 
            

          
(2) tünügün  ata – anilar  yeghini  echildi. 

tünügün  ata  –  ani  +  lar  yeghin  +  i 
                 
                

ech  +  il  +   di. 
       
         

(1) 5
5

(2)
5 1

                                            
1

 

5 tünügün
ata

ata ata – ani (ata – 
ana) ata 
– ana ata ana
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2.1  (tüp söz) 

su  kök ilgiri )
2.2  (yasalma söz) 

2

 
(3) közëynëk = köz + ëynëk 
              

(4) ata – bala = ata + bala 
               
(5) miwë – chiwë = miwë + chiwë 

               ( ) 
(6) arwang – sarwang = arwang + sarwang 

            ( ) 

(7) tokyo uniwersiti = Tokyo  uniwersiti 
              

(8) tilshunas = til +  shunash 
      

(9) biëdëp = bi  +       ëdëp 
          
 (3)(4) 2

1
(5)(6)

1

(7) 2

1
(8)(9)

227

(8) tilshunas 

liq
tilshunasliq  (9) ëdëp

siz ëdëpsiz
biëdëp

ëdëpsiz
ëdëpsiz lik

ëdëpsizlik
biëdëp  

2.3 qisqartilima söz  
1

1
 

(10)       =      

              
(11)      =     

 
(12)     .  =    

 

(4)(5)(6) (10)(11)(12)
(8)(9)

2

 

 
                                            
2 

 

- 994 -



 
3.1  

ChaSen Mecab
[2][3]

 

 

3.4  

1

n-gram

2
N = 1

N = 2, 3, 4

 
 

4.  

N = 1
43

N = 2 N = 7
57%

 
2
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                      1 N-gram  

   

 

 

 29715

 

 10072 

 

 

N = 1 bir 408 12463 43% 2170 22%

N = 2 dë+ p 148 9503 32% 3016 30%

N = 3 bol+i+du 46 5792 19% 3317 32%

N = 4 til+shunas+liq+i 29 1551 5% 1207 12%

N = 5 qara+sh+lir+im+ni 5 320 1% 281 3%

N = 6 bol+ma+ydighan+liq+i+ni 3 76 0% 72 1%

N = 7 izdi+n+iwat+qan+liq+i+ni 1 9 0% 9 0%

 
                      

n-gram 
 

N = 1 N = 2 N = 3 N = 4 N = 5 N = 6 N = 7 

 26 3314 2733 976 265 72 9

 7721 5508 2865 502 53 4 

 2486 443 175 70 2  

 836 170 12 3  

 44 2  

  1  

 1008 18  

 334 47 7  
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